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Question 1

{a) Define the following terms. [5]
(i) Paging file
(i) Combinational circuit
(ii) Topology
(iv}) Arithmetic Logic Unit

{v] CPU size
(b} List four different types of network topologies. {4]
{c} Discuss fifth generation computers. A i3]
{d) What is the main difference between éystem software and application software? [2]

(e} Give two examples of system software which are also utility software and two examples of

application software. [4]
(f) Give one example of a minicomputer and one for a microcomputer. [2]
Question 2
(a) State the chipset that connects each of the following. [5]

(i) Peripheral Component Interconnect (PCl)
(i} Universal Serial Bus (USB)

{iii) Random Access Memory

(iv) Basic Input Output System chip

(v) Accelerated Graphics Port

(b) Discuss the concept of grid computing. [4]
(c) Discuss the three main components of a CPU. (6]
(d} What word does the binary sequence, 010011010110000101101110, represent? [5]

N.B. The ASCII decimal values for character ‘A" is 65 and ‘a’ is 97.
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guestioﬁ 3

(a) Discuss the three functions of an operating system. [6]
{b) Discuss the Power on Self-Test (POST) process. [3]

(c) Mike has a 64bit computer which runs a 32-bit Windows 7 OS version. He has a copy of 64-bit
Microsoft Office which he intends installing to the computer. Will he be able te install the Microsoft

Office software? Why? [3]
(d) State the class of IP addresses each of the following belongs to. [4]

(i} 192.168.10.1
(i) 10.1.1.2

(ill} 135.78.10.5
(iv) 120.10.1.1

{e) Explain how the double data rate RAM achieves its mandate without tempering with the clock

speed? (2]
(f) What are the dangers of overclocking? f2]
Question 4
(a} List and discuss the four properties of a good network. i8]
{b) Differentiate between a router, switch and hub. {6}
(c) Differentiate the two network layer protocols. f6]
Question 5
{a) Give two examples of combinational circuits and two for sequential circuits. {4]

{b} Adigital parity checker takes in a bit input and checks the parity of the input. It returns 0 if the
number of 1 is odd in the input and 1 if the number of 1s is even. The case where all inputs are 0s is
a don’t care condition. Implement the reduced circuit of the parity checker. [12]
{c) Implement the circuit of the following function using NOR gates ONLY. [4]
fla,bc)=ab+ ¢
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